THE OPEN UNIVERSITY OF SRI LANKA |

LEVEL -3
ASSIGNMENT TEST 2016
MICRO ECONOMICS ~ MCU1205
DURATION: TWO (02) HOURS

Date: 30.10.2016 ‘ Time: 2.00pm — 4.00pm

INSTRUCTIONS -
Answer any three (03) questions.
All questions carry equal marks.

(1) Do you agree? or disagree? with the following statements. Use examples and

. illustrations where possible to explain your answer.
(i).  F.W. Taylor is considered as the father of Economics.
(i)  No any.assumption is used to draw a Production Possibility Curve.
(iii)  If the opportunity cost is increasing the shape of the production possibility curve
is a straight line. :
(iv)  When the price of a commodity increases the demand curve of that commodity
shifts rightward.
(v)  Ifthe supply is perfectly elastic, the entire tax burden is borne by the consumer.
" (vi)  The law of supply says that there is a negative relationship between the price of a
product and the quantity supplied of that product, keeping ¢ all else constant.
(vii) Price floor will result in a black market price.
(viii) Minimum price is imposed to protect consumer.

2 (@ How will the following changes affect the market conditions of the relevant
- good? '
@) Price of fuel has gone up, market for hybrid vehicle.
(i) Price of petrol has come down, market for vehicles run on diesel.
(ili)  Price of a kilo of rice has come down, market for bread :
(iv)  New variety of seed paddy which gives hi gher yleld has been introduced,
market for paddy.
) Max1mum legal price has been mtroduced on a kilo of rice, market for
rice.

b) Demand and Supply functions of good “x” given as;
| Qd =40 - 2p

'Q = —10 + 3p (Price in rupees and quantlty in umts)

@) Find the equilibrium price & quantity.

v . y s.8. What
(i)  Suppose government introduces a maximum leo=! =% at R
' will be the economic conseauenes £ this action?. Explain.
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Consider the following details for good “A” and “B”.

Price Quantity demanded (units)

: Good “A” Good “B”
Rs. 38 11400 ' 7000
Rs. 50 10400 4600

) Find the price elasticity for goods “A” and “B”.
(i)  Comment on the values of elasticity.

(iii) How can the revenue generated from above two products be increased by

manipulating the relevant price? Explain.
(iv)  With example, explain how knowledge in relation to the Concept of
Elasticity can be used by a manager in making effective business decision.

Marginal utilities of goods “B’ and “C” are given below.

Quantity12345678

MU, |44 1403632 28 124 120 16

MU, 54 | 48 | 42 |36 130 (24 [ 18 ]| 12

| - Unit price B = Rsd/i= Unit price of C=Rs. 6/=

(i)

(iif)

(b) (D)
(i)

If the consumer income is Rs.58, find the quantities of goods B and C that will
maximize consumer satisfaction. ' ‘

'If the consumer income drops to Rs.48/= while the price of good “B” and “C”

remains the same, find the quantities that will maximize consumer satisfaction. ’
Explain how the consumer achieves the maximum satisfaction according to

Cardinal Utility analysis.

Distinguish between short run and long production functions.
Explain the three stages of production in the short run.
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